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September 19, 2023

Remind me to hit 'record.’

Today: Examples from 2.3 and maybe get to 2.4 Proof of '""Derivative of Sine is
Cosine."
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51-52 Find an equation of the tangent line to the curve at the

given point.
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69. Suppose that £(5) = 1, f(5) = 6, g(5) = —3, and

g'(5) = 2. Find the following values.

(a) (fg)'(5) (b) (f/g)'(5) (c) (g/f)'(5)
70. Suppose that f(4) = 2,g(4) = 5, f'(4) = 6, and

g'(4) = —3. Find h'(4).
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81. Find equations of both lines that are tangent to the curve
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98. At what numbers is the following function g differentiable
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Section 2.4 Derivatives of Trig Functions
The Derivative of sine is cosine.
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